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'y- ^' find* and y.

•

Here •Inco/ayzz: 6, by adding and subtracting 2«/ =s
la from the first equation, we obtain

«« + 2aT^+ y«=:26 .-.x+yz^jiS "
«i-a*y+ yt=-4 .v*-y= il

Hence2x=^eandx= ±3 i
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< 1. ««+.-te= 21;*finda:. /
3. ««-r8«= 9; finder. „

8. 2*«-4*+l8-34j find<
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. *
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*• « + jrii = 6 ; find a:.

^
' '<».

5. »»-a«;=aj find*. I

C. o«*-ft«=5c; find X,

7. ** + y«= a6 > .

. • «y=i2. fihdxalndy. ..

8. ««iyt= 72 i

* + y= iaj firidaraidy.

,^'7?^ ^ *^** nnmberiironi the pquare of which if
i yon deduct 6 times itself tl^e remainder is 40 ?
'

.^i^iK^**"^ *!! °"°»^" '^^'^ *^* *!»•« diifew^^^
and their product 240. ; ,

• I

I. ti*
^*^'' numbers are ^o^e the product ofwhich

!• 34, and the sum of their squares 148?
™^

Ito^L^t** •T^' "'^'* **** if7* take 12 from
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